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1. Background

This TP proposes to capture a core requirement and conformance approach for OTA receiver in channel selectivity
TEXT PROPOSAL:

6.8
In-channel selectivity

6.8.1 
Background information on the conducted requirement
The in-channel selectivity requirement relates to the ability of the receiver to receive a low power signal whilst receiving a high-power signal in channel. 

The selectivity is around 20dB in 36.104; this happens to be roughly equal to the SINR range of the demodulation requirements.
6.8.2 
In-channel selectivity: Core requirement








For setting the requirement, the same ICS as for the conducted requirements is assumed. 
In regard to how to set the absolute levelsIt is worthwhile to consider that aspects of the receiver design that impact the selectivity include linearity, ADC range, phase noise, frequency error and others. The applicable aspects of receiver design will divide into those which become of significance at high absolute power level and those that do not (e.g. phase noise). Other requirements, such as receiver blocking and dynamic range already capture the behavior of the receiver at high power level. It is important that the selectivity is achieved after combining. Thus, the most important receiver level to consider for this requirement is the level based on OTA minimum sensitivity. 

Thus the receiver ICS requirement is specified at minimum sensitivity level:

Wanted signal level = Conducted wanted signal level + (OTA minimum sensitivity – Conducted Reference Sensitivity)
Interferer level = Conducted interferer level + (OTA minimum sensitivity – Conducted Reference Sensitivity)
6.8.3 
In-channel selectivity: Conformance requirement

The in channel selectivity requirement is tested in a single direction.
�I think this is only true for some implementations, we need to make this more clear but difficult in time we have – for now I suggest we remove
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